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#include "stdio.h"
int main ()
{ int i, x;

float s=0, ave;

for(i=1;i<=30;1i++)

{ scanf ("$d", &x);

st+=x;

}

ave=s/30;

printf("aver=%f\n", ave);
}
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int x[30];
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#include "stdio.h"
int main()
{ int i,x[30],k=0;
float s=0, ave;
for(i=0;1<30;i++)
{ scanf ("$d", &x[1]);
s+=x[1];
}
ave=s/30;
printf ("ave=%f\n", ave);
for(i=0;1<30;i++)
if(x[i]>ave) k++;
printf ("num=%d\n", k) ;
}
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int a[10];
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int x[100],z[10];
float a[20];
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int af10]={0,1,2,3,4,5,6,7,8,9};
(2) Hefy—mm R RAE.
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int af[10]1={0,1,2,3,4};
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int a(1=1{0,1,2,3,4,5,6,7,8,9};
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int a[10]={0,1,2,3,4,5,6,7,8,9};
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#include "stdio.h"

int main()

{ int i,a[10];
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for(i=0;1i<10;1i++)
afil=1i+1;
for(i=0;1i<10;1i++)

printf("%$5d",al[i]);

BATEER

1 2 3 4 5 6 7 8 9 10

4. FERENE

TSR AN ZE SR B b B AG RUEE R, J00 T DL B AL bR B8 A — 2 AL B G A 2 5K
P ICE = A LA PR ECH rand AL & FE stdlib.h kSO, il B, TR 27 E R
Bz wi B SC AL A A4 # include "stdlib.h" 8% # include <Tstdlib.h™>>, % p& 5 1) — & I
KK rand O,

523 —#HEAE RBEKXZEH

(%) 5.3) K 10 A %rb iy KA R/ ME

[ #Y  SRAAE A FEVEAESE 4 B A00G IR0 20 © 2 A 28k o 00 Bk 2 foff FH 067 20 A8 6 58 A
(o B 7E FH B0 56 B, T T2 R & — T (B 9 5 (B 22 4L

FFWT .

#include "stdio.h"
int main()
{ int i,a[10],min, max;
for(i=0;i<=9;1i++)
scanf ("$d", &al[i]);
max=min=a[0];
for(i=1;1i<10;i++)
{ if(a[i]<min) min=al[i];
if(a[i]>max) max=ali]l;
}
printf ("max=%d,min=%d\n", max,min);

}
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#include "stdio.h"
int main ()
{ int i,t,all0],k;
for(i=0;1<=9;1i++)
scanf ("$d", &al[i]);
k=0;
for(i=1;1<10;i++)

if(a[i]<alk]) k=1i;
if (k!=0) /o H kN OB T %/
{t=al0]; al0]=alk]; alkl=t;}

printf ("min number is:%d\n",al[0]);
printf("the position is:%$d\n", k);
}

[ EAY ik A2 % 58 A 2 AN 10 A B0 4% 31 55 /A
SRIG K A 2] al 0 VW7 & F IR FE A 805 T AN o[ 18] B 5.2 KENMEFEHEK
a[ 913X 9 AN 4R B S ANME I LR B al 1 1M 7B, BN B L ARMOLE
a[ 213 al 9 R B R /IME I ¥ oA 3 al 2 TR A7 &, DA 2R
e Je e N al 813 al 9 4R B S /IME R 2] al 87 E L T F 9 al 9 JHE 23X 10 A h iy
RAE . EAEMGEZ I 58 TR 10 A Eods IR /N B R B MR R . 3 b oHE A
BB IL . TR U SRR AR A 9 YOR SR/ IME IR 4 B AR R 7 B
AR . X 0 ANSBGHEATHE P MR R T .

(1) A4,

(2) XFi=0,1,,n—1 1§

D k=i;

@ XFj=i+1,-.nfk

WA alj]<<alk], M k=j;

© A al kA ali],

(61 5.5) B —24EE0 B n(n<<50) A Edie b 7 477

(54 440 B A Bl A 50 n A8 B, AT DUSE S8 SC— A R 08 KI5 Al S8 )5 i A
n, A n AN T OB T R B 5.3 BT I 5




74 2 % 41 4 444 R4t

al0] a[l] a[2] a[3] a[4] a[5] a[6]

e fae]sfefr]
it

B 53 BFEREANTE

M n="70f,al 0]Fl a[ 6 ]3¢t ,a[ 1 |Fl a[ 5 15cHe a2 JF a[ 4 ],a[ 3IAEHHDHACD
e, HATIERET N O TEHRF (n—1)/2,alilM a[n—1—1]35He,

BEUF .

#include "stdio.h"

int main ()

{ int a[50],t,n,i;

scanf ("$d", &n) ; Jx BIATCEAN B n* /
for (1i=0;i<n;i++)
{ scanf("$d",&alil); /B n ANEL * /

printf ("$5d",alil]);}
printf ("\n");
for (i=0;i<=(n-1)/2;1i++)

{ t=alil;
afil=aln-1-1];
aln-1-1i]=t;

}

for(i=0;1i<n;i++)

printf("$5d",ali]);
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#include "stdio.h"
int main ()
{ int n=12,al1={1,3,5,7,9,12,15,19, 24,27,38,66},key,mid, low, high;
printf ("input the number:\n");
scanf ("$d", &key) ;
low=0, high=n-1;
while(low<=high)
{ mid= (low+high) /2;

if (key==a[mid])

{ printf("$d\n",mid);

break;



% F A1 A 444 A

else if (key<al[mid])
high=mid-1;
else low=mid+1;
}
if(low>high)
printf ("not found\n");
}
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input the number:
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not found

input the number:
27
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int a[30] [4];
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int x[3][4]11([2];
float y[41([11(31;
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int a[3][4]1=1{{1,2,3,4},{56,7,8},{9,10,11,12}};
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int a[3][41=(1,2,3,4,5,6,7,8,9,10,11, 12}; W{EHAY &5 R F1 1 FAd A
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int a[3][4]1={{1}, {5}, {9}};
int a[3][4]={{1}, {0,6},{0,0,11}};
int a[3][4]1={{1}, {5,6}};
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int af3][3]={1,0,3,4,0,0,0,0,9}

int al]I[3]={1,0,3,4,0,0,0,0,9}
int al[ 1[3]={{1,0,3}, {4},{0,0,9}}



